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AQA A2 Chemistry 

2 Equilibria
1
(a)
2SO2
+
O2
⇌
2SO3


Start/mol:
2.00
2.00
0



Equilibrium/mol:
(2.00 – 0.550)
(2.00 – 0.275)
0.550




1.45 [1]
1.725 [1]
0.550


(b)
Equilibrium concentrations/mol dm−3: [SO2] = 0.145; [O2] =0.1725; [SO3] = 0.0550 [3]

(c)

[image: image1.wmf] [1]

(d)

[image: image2.wmf] [1] = 0.830 [1] mol−1 dm3[1]

(e)
(i)
The equilibrium shifts to the right [1]; moves to the side with the fewer 
gaseous moles [1]


(ii)
No change [1]; only changes in temperature change the value of Kc [1]
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